Name Date

4. Nila started subtracting 28 from 65 by using expanded form. Help Nila
finish subtracting.
65 = 60+5 = 50+
28 = 20+8 = 20+ 8
30+ =

5. Solve 72 — 47 using Jerome’s, Tanya’s, or Nila’s strategy.
Explain your thinking.

M Check-In: Questions 6-7

6. Solve the problems below using mental math, sketching a number line,
or making a few quick notes.

A.23-8= B. 230 - 80 =
£
C.78-40= D. 200 - 150 = %
E. 200 - 25 = F. 205-197 = 2
=
G. 86 - 48 = H.57 - 29 = 8
©
7. Explain your strategy for Question 6F. g
3
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